Lesson 8 -4

Square of a Sum

(- a +2ab+b2“

a? + 2

A. (7z+2)?

(a + b)z— (a + b)(a+ b)

-a-b + b?

(1) + QT2 + 22

Special Producty

The square of a +b is the square of a
PLUS twice the product of a and b
PLUS the square of b

A0 7

(5ﬁ #)( 5; +%)

=4922 +a3z +4

Square of a Difference

@=s (o - b= (a—-b)(a-b)

G:_az —2ab+ b2
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a? — 2
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a-b +b?

c. @o—dp={(3 _ 7.3 .4 + 43

B. (5q+9r)= % ) % Fr + (9) CQ,—
—0?; 7‘70@’ +8&/r™

MINUS twice the product of a and b
PLUS the square of b

The square of a — b is the square of a

D. (6e - 6f)?

O

-Gc2- 2de, + 1,

Product of a Sum and a Difference

&= @+b)@-b)= a®-b
02 _poth ~b”
a3-b~

a? — b2
E. (9d -4) (9d +4)=@dz—fﬁ
= 37— 16

8-4 Special Products

= Qoe)l - Qoo+ bf + [(,Jﬂl

- Blbe” ~Ref +3@C’*’*

The product of a +b and a - b is the

square of a MINUS the square of b

0 - "
F. (10g +13h% (10g — 13h®) = (IDAD (1%3)
_ 1003 _169h°
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Lesson 8 -4
Practice:

1. (x — 6)2

4. (2x — 1)2

7. (2h2 — k2)2

10. (y — 4x)y + 4x)

13. (3x — 2y2)(3x + 2y2)

8-4 Special Products

Special Prodacty

2. (3p + 4)?

5.(2h + 3)2

1 ~\2
8.(2.‘&4"3)

11. (8 + 4x%(8 — 4x)

14.(2p — 5s)(2p + 5s)

A0y

3. (4x — 5)?

6. (m + 5)2

9. (x —y)x +y)

12. (3a — 2b)(3a + 2b)

15. (%x - Qy)(%x + 2y:]
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